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Instructions:

(a) A livre fermé. Tout type de calculatrices permis.

Closed book. Any type of calculators is allowed. 1 / 10
(b) Répondre sur le questionnaire. 2 / 10

Answer on the question sheets. 3 /10
(c) Les 6 questions sont d’égale valeur. 4 /10

The 6 questions have the same value. : /10
(d) Donner le détail de vos calculs.

Show all computation. 6 / 10
(e) Table d la fin. / Table at the end. Total / W
(f) Angles en RADIANS / Angles in RADIAN measures. So

Test: sin 1.123456789 = 0.90160112364453
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MAT2784B Test mi-session 2 / Mid Term 2

Qu. 1. Trouver h et n pour approcher l'intégrale & 10™* prés,

Find h and n to approximate the integral to 4 decimals,

2
/ z?1n z dz,
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par la méthode des trapézes / by the composite trapezoidal rule :
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Qu. 3. Résoudre le probléme auz valeurs initiales. / Solve the initial value problem.
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Qu. 3. Résoudre le probléme auz valeurs initiales. / Solve the initial value problem.
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Qu. 2. Résoudre le probléme auz valeurs initiales. / Solve the initial value problem
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Qu. 3. Trouver la solution générale. / Find the general solution.
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Qu. 4. Résoudre par Laplace. / Solve by Laplace transform.
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Qu. 5. Résoudre par Laplace. / Solve by Laplace transform.

y' +4y =u(t—1), y(0)=0, ¢(0)=0.
Note : L{u(t —a)f(t — a)}(s) = e *F(s).
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PROBL . MODIFTE

Qu. 5. Résoudre par Laplace. / Solve by Laplace transform.
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Qu. 6. Soit le développement de Fourier-Legendre
Consider the Fourier-Legendre expansion

cosx = ag Po(z) + a1 Pi(z) + ag Py(x) +

Calculer les coefficients de Fourier-Legendre ag, ay et as.
Compute the Fourier—Legendre coefficients ag, a; and as.

Po(z) = 1, Pi(z) = 2, Py(z) = %(3952 —1),
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